2008000 OoooOO Il MOOobDbO D400

e 00 0OO0OODOOOODOODODOOODOODOODOOOOODOOODOO

e JODOIDOODOIIDODOODODOODODODOO

oo1
foo0ooovooOoooowiOoDOoooooooooboooogoooo

() Imf0 WOOOOOOOOODODOOOO
00000 y,y2 €Im fO00000 f(21) =910 f(22) =9 000000 24,20 € VOOOOODO
00000y +yw0ky 000000 VOODODOOO f0000000000000000000M

(2) Kee fO VOOOOOOOOOOOOODO
00000 21,2, €Ker fO0D0D000 f(21) =00 f(z2) =0000000000a;, +20ks, 00 f
0000000 000000000

oo 2

AD0O0OO0OO0O0O0OO0OD nxnO0000O0D0DO0OO0ODO0O0DINOOO0 nO000OO0O0OO0ODOO xOyO4dooO
ixtAAy =ixy & 'tAA=FE00000O
00000 0«00000 @M =00000000:00000 1000 000000000 e, 000
x=¢0y=e,0000000000000000000

oo 3
00000 x="zy 0000000 x' ='«,y]0000000000

z' cosf sinf z

= (1)

Y sinf —cos6 Y
0000y=(tan$)200000000000000000

oo 4
AO0DDOOODOOOOnxnOO0OO0O0O0OO0OOOOOOOOO

(1) 2=00000A4000000000 0000000000
00000 A2=000 A=0000000003

(2) \Ox0 ADDOOOODODOODOO0O0O0OMNOxO A200000000000000000000

(3) AU0O0DD00O0DO00O000D0O0D0D0O0OUODO0OD 0000000000000 O0OOoDOOOO
000 XNOpOOOOOOODOOD xO0yOOOOOOoooooO
00000 AODDOOOOOO0OOCOOO0O00000000000000000000 x*4AxO000O
00 x*Ay0 0000000 20000000000003



0o s
{1, cosz, sinz, cos2z, sin2z} 00000000 VOO OVOO VOOOOOO FO F(f)(z) = f(z+c)
0feV,0<e<2r00000000000 FO z0 2+c¢00000000000000000000

(1) vOOOoooOo {1, cosz, sinz, cos2z,sin2¢} 000000V O0000O0O00OOO

27

(2) vOOOOOOOO(f,9) =/,

goooooo

f(x)g(z)dad f,g e VOO OOOOODDODOOFOOOOOOO

ob 6

b

Il
ORI
= A
SN BN

gooooboooooooo
() ADDUOOO0O0OO0OOOO0OODOODOODOOOOOO
(2 0000 POOOOO DODOO P'AP=D0O0O0O0O0OO0ODOOOPODOOOOO

(3) nOUD0OD0O0O0OOOUOU0UA"ODUDOODAOO0OOUOD0nOOODOOOOOO



